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( Programming in Visual Basic and
Database Management System-I & II)
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R T

Note : Candidates are requiring to give their answers in their
own words as far as practicable. The questions are of

equal value. Answer any five questions. Q. no 1 is

compulsory.

1. Choose the correct answer from following.

(a)  In Visual basic, the storage size of data type

"variant' is

(1) 1 Byte
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(b)

()
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(ii) 2Byte i€02°

(ili) 4 Byte

(v) 8By

Visual Basicis:

() HighLevel

(if)  Assembly Language
(iii) Machine Language
(iv) None of these

VB developed by :

(i) Microsoft Corporation
(i)  Sun Microsystem
(i1i)) Blue-Ray

(tv) None of these

(2)

4




(d)  Which one is cobines the features of textbox

and listbox?

(1) PictureBox
(ii)  CheckBox
(iii) ComboBox
(iv)  Option Buton

(e)  Which one is special tool available in VB to

access database connectivity?

(i) ADOM
(i) ADO
(iii) DDAO

(iv) None of these
(H SDI stands for :
(i)  Multiple Data Interface

(ii)  Multiple Document I[nterface
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(g)

(h)

(i)
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(1ii)  Singleddcument Interface
(iv)  None of these

Extension of standard form

—_—

(i)  .bas
(i) b
(iii)  .frm

(1v) Nonel of these
VBis:

(1) F ront-End

(1) Back-End

(111)  Both (i) and (ii)
(1v)  None of these
DQL stands for :

(1) Data Queue Language

(4)



5081°(ii))  DataQuery Language

- G)

2 (a)
(b)

3 (a)
(b)
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(iii) Data Quantity Language
(iv)  None of these

Father of DBMS is :

(1) Dr. Eadgar Codd

(i1)  VonNeumann

(iii) John MacCarthy

(iv) None of these

Write the main features of VB:

Explaint he different operators available in VB

with example.

What is ReDim? Write the use of keyword

"redim' while using array.

What is use of input box in VB? Write a

program to enter a number and compute the

factorial of a number.

(35)
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4, (a) Explain Label PictureBox and Command
Button with their properties methods and
events.

(b)  What is MDI? Write the advantage of MDI 1
VB application.

S, (a)  What do you mean by IDE? Explain each of
their components.

(b) Discuss decision-making and cozmirol
statement in VB.

6. (a)  Write the advantage of RDBMS and Discess
Codd's Rule.

(b) Discuss architecture of DBMS with the
components of DBMS.

7. (a)  Discuss the DCL command of SQL.

(b)  Discuss DDL and DML langnage with smatablje
example.
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8. Creatba VB application and with a login form and
accept usemame "admin” and password "admin | 23" and
if success then open a MDI form with neat diagram

and code to login on click button.

9. (a) Write difference between "while” and "do

while” in VB.

(b)  What is Procedure? Write a procedure to
compute factorial of a number by input in

textbox and click on botton.
0.  Write short notes on any three of the following :
(a)  Data Model
(b)  Primary Key

(¢) Foreign Key

(d) Integrity Constraints
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Note : Choose the correct option from each question :
1. ) "Virtual" functionis defined .

(a) Compile time polymorphism

(b) Runtime polymorphism

(¢) Inside constructor

(d) None ofthe above

(1) A default constructor argument

(a) One
(b) Two
(c)  Three
(d)  Zero

(e) None ofthe above

(iii)  Which type of interface support multiple

inheritance in Java?
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oL (a)  Single interface
(b)  Multiple interface
(c) Both(a)and(b)
(d). None of the above
(iv)  Operator >> is called :
(@) Insertion operation_'
(b)  Put to operator
(c) Both(a)and (b)
(d)  Extraction operatoi'
(v)  Which keyword is not supported. by Java?
(a) friend

(b) import

(c) interface

(d) class
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(1) The size of char data type in C++

)

)

(d)

2

0

None of the above

(vit)  What will be the output of program?

int main()

- =

int z=20.

for(z=kz<10:z++):

-

i —

cout<<end | <<z:

g

40080672270
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(@) 1

)

(¢) 10

(d) Noneofthe above
(vii)) C++was Develop By :

(@)  Denis Ritchie

(b)  James Gosling

(c) - Bjame Stroustrup

(d) Noneofthe above

(1X)  The manipulator end is equivalent to :

(@) V
(b) \t
(c) \b

(d)  None of'the above
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(x)

J

(@)

(b)

J

(@)

(b)

4. (a)

(b)

40080672270

Which one is not supported by Java? (.

(@)  Package

(b)  Complex

(¢) Interface

(d)  Applet

What is the difference between C and C++,

Write access specifier in C++. |

What is Operator? Explain shift operator in java
with example.

What is Operator overloading? Give an

example of Binary Operator overloading,
Explain virtual function with suitable example.

Discuss the implementation of interface in java.

(6)




5 (a)  Explain abstract class in C++ with suitable
example.
(b)  Explain dynamic memory management in C++.
6 (a)  Discuss data types in JAVA with example.
(b) What do you mean by passing object to
function state with example?
7. (a) What is inline and outline function in C++?
Explain with example.
(b)  Write a program in C++ using virtual function
and compute square and cube of a number.
8. What is Constructor in Java? Discuss types of

Constructor in Java with suitable example.

0. (a)

(b)

What is Thread? Discuss life cycle of thread.

Discuss the types of thread in Java.

10.  Write short notes on any two of the following :

(a)

400806/2270

Package in Java
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(b} Exception Handling in C++
(c¢) - Artificial Intelligence - -

(d)  Final keyword

THE END
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Group-A/d g~

1. Select the correct answer from the following :

[10x2=20]
IriaRed § & 98 s & 99w i
(1) Which was th;a oldest Newspaper of Bihar ?
(a)  Aryavart
(b)  Searchlight
(©) | Indian Nations
(d) None of these

fBR & 98 [T F9ER T B o7 ?

(a) A
(b) TEEmE
(c) T A9
d) A9 F HE T
710901/730901
/740901-47540 (2) -




(ii)  Who said, "You give me blood and I will give

you freedom" ?

(a)
(b)
(c)

(d)

Bal Gangadhar Tilak
Subhas Chandra Bose
Jawaharlal Nehru

B.R. Ambedkar

ﬁmﬁmmﬁs“gqg%@ga,ﬁg%mrﬁ

i ?

(a)
(b)
(c)

(d)

i TFEY s
gay T I
EIGIN RS

. . IFSH

(iii) Which of the following team won first cricket

world cup?

(a)  Australia

710901/730901
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(b) India
(c) England

(d) West Indies

o e [Avg 79 fFae S 4917

(a)  SwEsfe
®) |
(c) o=
@ IR

(iv) ~ In how many fields are Nobel Prize awarded?

@ >
() 6
(c) 7
(d) 8
710901/730901
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@ 5
b) 6
) 7
d) 8

(v)  The first colour movie made in India was :

(a) MotherIndia

A # Bl e O e 4
(a) W& o=
(b) T
(c) e
(d) Ream &=
710901/730901
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(vi)  Mcmohan Line is situated between :
(a) India and Pakistan
(b)  Indiaand China
(¢c) Indiaand Nepal
(d)  Indiaand Bangladesh
Yeped @ orafted ¥, A F
(a) 9 A qriehe
(b) R AT A
(¢) ¥4 AR A
d) aRd 3R dreRy
(vil) Who is Ravi Shastri ?
(a) A great Cricket Player

(b) A great Philosopher
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() A gfeat Mahatma

(d) A greatPoet

1 et B & ?

(a) U "M frhe faael
(b) TF TN D

(c) TH "M Hew

(d) TF 7eM &

(viii) Who said, "You give me blood and I will give

you freedom" ?

(a) Bal Gangadhar Tilak
@) Subhas Chandra Bose
(c)  Jawaharlal Nehru

(d) B.R.Ambedkar

ﬁmﬁwmﬁs“—gﬂg&qﬁﬁ,{g%
U o
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(a) 99 TR fdds
(b) THN T= A4
() SO Ae&
(d) =l AR. FEsH
(1x)  Whatis the National Symbol of India ?
(a) Flower of Rose
(b) Lion
(c¢) Tiger
(d)  Ashok Stambh

'mﬁfﬁrv@qﬁ%w%?

@) I W A

(b) X

(c) @

(d) FMH T
710901/730901
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(%) Who was the discoverer of Atom ?
(a) John Dalton |
(b) C.V.Raman
(c) | Hargovind Khorana
(d) None of these

‘Ten” % @IS fHaA @ 4t ?

(a) S SeA

(b) dr.a. WO

(c) ETNE= @R

d FE B3 T
Group-B/4qe-d

Note: Attempt any two questions from the following.
[2x20=40]

Frefafag & 9 8 & g 3 I@T i
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2. Discuss the relationship between liberty and equality.
AT IR WAl & S g B e St

3. What functions are being performed by a welfare state?

A6 FAE T &R PH-HT T HE 5T o &7

4, What is the status of poverty in India? Discuss the
programs made for poverty alleviation.

A 70 Refey F@ar 87 T ogae @ R seg
TC HEHA & fGaaw i

5. Discuss the national movements of India.
I % TSIg A< $ gt e

6. What do you mean by Rights? Discuss the Laski’s
theory of Rights.

B | Y 1 G 7 M T AR B
el &1 a9 Fivtm
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Group-C/9e-d

Note : Answer any two questions of the following.
[2x20=40]

Freffeg ¥ & Bl @ ol & S} b

7. Briefly mention the contribution of T.H. Morgan in

genetics.

TR ¥ A.gE. A B AEE W OERY T S
T :

8. Why are resources unevenly distributed on the earth?

Discuss
o X S SR w9 & 4 R 87 7t AR

0. What are the main factors that affect the location of

the industry? Describe.

3 -] T BB & o SN N raRgfy H g
FQ &7 qUA BTl
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10.  Describe how the government helps the farmers in the

development of agriculture.

TR fhamt & Py & g F e JeR 7eE S
§, IUH i

11.  Describe the different sources of energy.

el & [ Al & qoe i

THE END
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